=
(@)

(g
~

S 6 ERE
=EET ERLEHF A

1. 0kmx 1. Okm

EERREBSRE=F2U2T - Ay aflE (FHHFE) #HF N
BER : SAIEIAR, 148 e Q0 P

m

=15 )
JL51
<BIEE (1 Sv/h) >
[CJo. 1k

C 101k - 0.25k%
[CJ0.26lE - 0.3k
036t - 0. 4%
CJ0. 4k - 0. 65k
0.6k - 0.8k
0.8k - 1.0k
CO1.0E - 1. 25k
CI1 2k - 1.4k
CI1.4E - 1. 65k
C 1.6k - 1.8k
C 1.8k - 2.0k
2.0k - 2.55%%
2.5k - 3.0k
B 3. ok

.

NS —

}

\'— 0.19 0.19 017
018 0.20 0.21 0.20
0.24 0.25 0.24 0.16
=\ W
0.23 0.18
0.23 0.21 /\_//_/g 0.32
(
0.22 0.24 / 0.17 0.22
0.14 ( /
[
0.28

0.22

/

)

COHE( . E 1+ ihIBRERITORMEME (ELEKRIEFR) EEALLLOCHD,




